1001 HIEH(STS) H7l(Fe) 809 ola R BE=E 0l Ef 54 04 A2E AL =
1002 Ha H7l(Fe) 509 o] 2 BSa 0l 2§ 54 o| 4 AAEALE ER
1003 she/d= Il (Fe) 509 o4 2 BE= 0l Ef 54 0|4 NES= TN =3 =
1004 S5 HIE A% (Non-Ferrous) 5009 0|4 E& BST Ol4 Ef 514 0| A AAE AR HS
1005 S H|H 4| 22 (Non-Ferrous) 1009 O|& EHE B S= 0|4 & 3 oAb A|AE AR =3
1006 =M HIE A 2% (Non-Ferrous) 3009 0|4 E& BSa 0l 2§ 54 0|4 AAEALE ER
1007 AlTt H| & 2| 22 (Non-Ferrous) 1009 Ol EHf BSE 04 Ef 54 0|4 A A" ALE F
1008 Al HE 224 (Non-Ferrous) 509 0|4 HS BSE 0l 28§ 54 0|4 A2EALE BR
1009 Al H|H | 22 (Non-Ferrous) 2009 O|A HS BS= 0|4 2§ 5 0|4 A|AE AR =3
1010 ALEE 7| A8 = (Machanical) 509 ol 2R BSE 0l 2§ 5 0|4 A2EALE ER
1011 T A(THE) I3 A (Press) 509 0|4 F BSZ 0l4 2§ 5 0|4 NES=IPAR=S S
1012 Mp: [ 7| A1 S 2 (Machanical) 3009 0|4 2F BSa 0l 2§ 34 ol & A2EALE ER
1013 oto| = 7+& 7| Al 3%t (Machanical) 509 0|+ $-’r BSZ 04 Ef 54 0|4 AAEALE S
1014 HACE 7|1 A& 2 (Machanical) 1009 0|4 H={ BSZ 0l 2§ 34 o4 A2AEALE ER
1015 CHO|ZH A& FZ(Casting) 1009 O]& 2§ BS2 0l 2R 53 0|& A2 AL =+
1016 AMEE(CHE) ‘438 E(Molding) 1009 Ol& ER BS3 Olgd ER 54 o4 A28 ALE ER
1017 12E=EY) ‘8 E(Molding) 509 o4 F BS2 0l 2R 53 0]& NES=TNe =3 =
1018 3|2 8(M-IC) 3| 2(Circuit) 509 ol 2R BSa old 2z 54 o4 22 2
1019 MM (@ A EM) M (Haness) 109} 0|4 = BEw 0ld 2R 54 0|4 A2B AR ER
1020 22,0 22 2% X7 (Eto) 309 0l 2F BSa 0l 2§ 5 0|4 NESL= A= R
1021 EYTH(ZER]) 22 % X|F(Eto) 1009 O]& 2§ BSZ ol4 Hf 54 o4 N B
1022 QIM/E0|EE 22 2% X7 (Eto) 509 0|4 ER BS2 0l 2§ 34 ol & NESL= A= R
1023 HEYIAREEWE) M X (Elec Stuff) 3009 O|4 Ef BSZ 0l4 2§ 5 0|4 NES=IPAR=3 S
1024 HEET) T & (Elec Stuff) 509 o] B BSE 0|4 Ef 5 0|4 Al2"EALE ER
1025 HMEIED M X (Elec Stuff) 109} 0|4 = BE= 0l Ef 34 o|& 2o 22
1026 N 3}t A KH (Chemical) 109 oj4 EHf B&s= 0ldd Ef 349 oj4 S 2a
1027 RE/IIAR RF/7t2F(Fu) 509 oy Ef BSEOY R 54 0/ s Fa
1028 STONE CHIP 35t A X (Chemical) 1009 o4 HE BST 0Ol4 2 3 o| 4 Al2EALE ER
1029 RESIN 2| ZI (RESIN) 509 0|4 * BSZ 0l4 Ef 5 0|4 NES=TNe=3 *
1030 EPS (CE) 35t A X (Chemical) 509 0l 2R BSa 0l 2§ 54 0|4 22 25
1031 e/ g2 2 o5t A Xl (Chemical) 509 oj4 Ef BS5Z 0|4 HBY 19 0|4 NES=IPAR=3 5
1032 0| S Ih Cf /GLUE HE7Z 2% (Non-Ferrous) 3009 0|4 E& BSaE old 2R 54 o| 4 AAEALE ER
1033 st (7| Eh o5t A X (Chemical) 509 o4 * BSaE 0|4 HF 14 ol & NESL=IPAR=3 S
1035 Huh(d ) H7l(Fe) 80 oj4 2@ BSE 0l 2§ 54 O|4t A2EALE EBR
1036 HEh(E) 1l (Fe) 80 o|& 2o B 0l ER 54 0|4 NES= TN =3 =
1037 AlM HE 224 (Non-Ferrous) 1009 0|4 HES B2 0l 2§ 54 0] & AAEALE ER
1038 FZ (Y4 FZ(Casting) 509 0|4 F BS2 0l 2§ 54 0|2 A2E AL BER
1039 12AEEY) & E (Molding) 509 0l E{ BSE 0l 2§ 54 oj&t A2EALE EBR
1040 3|2 E(PCB) 2| 2,8 M (Circuit/Haness) 809 |4 2 B S 0|4 & 54 O] A A AE AL ol
1041 3|22 (7|Eh 3| 2,8 M(Circuit/Haness) 309 O|AF  HQ BSZ ol4 2a 54 0|4 2 22
1042 3| 2 2(LCD,FND) 2|2, M (Circuit/Haness) 309 O| 4t ? BSw 0le £ 5 0|4 22 2
1043 3|2 Z2(PBA) 3| 2,8 M(Circuit/Haness) 809} 0|4  HZ BSE 0l Ef 513 0|4t AAHE AR B
1044 AICIEES) 3|2, M (Circuit/Haness) 109} o|4 -r?— BE= 0ld ER 54 0|4 2o £
1045 Z T (EPS) 22 2% X|F(Eto) 509 ol 2R BSE 0l 2§ 54 0|4 22 25
1046 ZHTH(7IED 22 % X|F(Eto) 509 o4  EF BSZ 04 2§ 19 0|4 NES=IPAR= - R
1047 HECIEIEE) T & (Elec Stuff) 3009 O|M B BSZ Ol4 Ef 514 0| At A2EALE ER
1048 HEHEH) M X (Elec Stuff) 3009 O|4 EE BEE 0l 2R 54 0|4 A2BALE ER
1049 EE/Ea/AM@QF3E) = (Painted) 109 oj4t 2 BSa 0l 2§ 19 0|4 22 232
1050 AEESFAE) E ¥ (Painted) 59 0e R BSE 0led ER 34 of4 2 22
1051 HE(OE) E| £ (fabric) 30908 2R BSE 0l 2§ 54 0|4 28 25
7001 4EQY) ME 2 s 2@ 23 2 2 23
7002 AHZ (ASKERY) AE 2 2 2 23 2 2 23
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